Tasks and answers 6

1. Present your own example of a short dialogue in which the speakers follow all the four Grice’s maxims!

An example of the situation in which all the four maxims are being observed follows:

Example:

Husband: Where are my trousers?

Wife: They are in your wardrobe in our bedroom.

The wife has answered clearly, truthfully, has given the right amount of information and has directly addressed her husband’s goal in asking the question.

2. What does it mean to flout a maxim? Exemplify it!

To flout a maxim means not to follow one of the four maxims (maxims of quantity, quality, relation, and manner) which are recognized within the cooperative principle (according to Paul Grice). For example, flouting a maxim of relation means making a response or observation which is very obviously irrelevant to the topic in hand, as in

the following case:

Example:

A teenager girl got dressed, grabbed her handbag and told her mother that she was going out. Her mother asked her where she was going. The girl repeated herself: ‘Out’.

3. Who generates an implicature and who produces an inference?

It is important to distinguish between implicature and inference, implying and inferring. To imply is to hint, suggest or convey some meaning indirectly by means of language. An implicature is generated intentionally by the speaker and may (or may not) be understood by the hearer. To infer is to deduce something from evidence (this evidence may be linguistic, paralinguistic or non‑linguistic). An inference is produced by the hearer. It is important to realise that the notion of ‘implicature’ is a central concept in the study of pragmatics.
4. Which type of conversational implicature is more typical, generalized and particularized?

It is the particularized type of conversational implicature that is more typical and that is the reason why it is usually labelled just conversational implicature, not particularized conversational implicature. For the interpretation of this type of implicature we need some locally recognized inferences in order to work out the conveyed meanings. On the other hand, for the interpretation of the less typical type of conversational implicature, namely for the generalized conversational implicature, we do not need any special background knowledge of the context of utterance in order to make the necessary inferences.
5. Which type of implicature does not depend on its context?

Both types of implicature, conversational and conventional, convey an additional level of meaning beyond the semantic meaning of the words uttered. However, they differ in that in the case of conventional implicature, which is associated with specific words (e.g. but, even, yet), the same implicature is always conveyed, regardless of context, whereas in the case of conversational implicature, what is implied varies according to the context of utterance. So it can be stated that conventional implicature does not depend on its context, as illustrated by the following example:

Example:

Mary suggested going to the cinema, but I insisted on staying at home.

The expression but implicates that proposition p is in contrast to proposition q.

The interpretation of any utterance of the type p but q will be based on the conjunction p & q plus an implicature of ‚contrast‘ between the information in p and the information in q. In the above example, the fact that Mary suggested going to the cinema is contrasted , via the conventional implicature of but, with the fact that I insisted on staying home. 

6. Illustrate the difference between following and flouting the maxim of relation!

Let us take a question-answer sequence with two possible answers, one following the maxim of relation, the other flouting it.

Husband: Where are the car keys?

Wife: They are on the table in the kitchen. (following the maxim, in fact all the four maxims)

Or

Wife: Did I tell you about Mary‘s new partner? (flouting the maxim of relation)
Task: Add your own examples!

7. Name at least three specific expressions associated with conventional implicature!
Conventional implicature isn’t based on the cooperative principle or the maxims.

It doesn’t have to occur in conversation and doesn’t depend on special contexts for its interpretation. Moreover, it is associated with some specific words, such as but, even, yet.

Example:

My father hasn‘t returned yet. (= NOT p)

NOT p is true (+> p is expected to be true later)

8. Explain the two possible meanings of the conjunction and in English!

From the point of view of pragmatics, there are two different ‘meanings’ of the conjunction ‘and’ in English. They are good examples of conventional implicature.

Examples:


1.  Yesterday, Mary was happy and ready to work.

(p & q, +> p plus q) two statements with static information

‑ and means ‘in addition’ or ‘plus’

2.  She put on her clothes and left the house.

(p & q, +> q after p) two statements with dynamic, action-related information


‑ and means ‘and then’ and indicates a sequence of two actions
9. What do you know about the theory of relevance?
According to the theory of relevance, we pay attention only to information which seems to us relevant. To communicate is to claim someone‘s attention, and hence to imply that the information communicated is relevant. A single property - relevance - is seen as the key to human communication and cognition. 

For more information, see Relevance, Communication and Cognition by Dan Sperber and Deidre Wilson (1986).
10. Could you think of several different meanings of the question How old are you? depending on different contextual situations?

There can many different meanings depending on the context in which the utterance is being used.

Example:

How old are you?

- it can be a direct question concerning somebody’s age; 

- it can be an indication that somebody is not behaving appropriately to their age;

- it can be a suggestion that somebody is old enough to act more independently;

- it can be a hint that the speaker is older and therefore has the right to choose first;

and so on.
